NOTES:

1.

THE PRODUCT SHOWN HEREIN IS DESIGNED AND MANUFACTURED TO COMPLY WITH REQUIREMENTS OF
THE 2021 SOUTH CAROLINA BUILDING CODE, 2021 SOUTH CAROLINA RESIDENTIAL CODE, 2021 IBC
AND 2021 IRC

THESE INSTALLATION INSTRUCTIONS ARE ONLY FOR THE STORM COVERING. FENESTRATION SYSTEMS
MUST HAVE THEIR OWN SEPARATE APPROVAL.

STORM TRIM PLUS ANCHORING SYSTEM MUST BE INSTALLED IN ACCORDANCE WITH THE
MANUFACTURER’S INSTALLATION INSTRUCTIONS.

STORM COVERING ANCHORS SPACING TO BE DETERMINED IN ACCORDANCE WITH CHART #1, SHEET 2,
TO MEET REQUIRED DESIGN PRESSURE AT INSTALLATION SITE.

FENESTRATION SYSTEM MUST MEET THE REQUIRED DESIGN PRESSURE OF THE INSTALLATION SITE.
SELECTION OF FENESTRATION AND PROTECTIVE SYSTEMS IS THE RESPONSIBILITY OF THE ARCHITECT
OR ENGINEER OF RECORD.

FABRIC MATERIAL: HIGH TENACITY POLYPROPYLENE 0.050” THICK.

REVISIONS

REV DESCRIPTION

DATE APPROVED

D REVISED PER NEW CODE

01/30/2023| R.L.

THE MUHLER COMPANY

630 SKYLARK DRIVE SUITE U
CHARLESTON , SC 29407

MUHLER STORM COVERING

LARGE AND SMALL MISSILE IMPACT

TABLE OF CONTENTS NOTES
SHEET NO. DESCRIPTION — — —
1 NOTES A.R. 08-03361 D
2 — 4 | ELEVATIONS AND CHARTS SCALE NTS DATE 11/06/18 SHEET1  OF 11
5 — 10 | INSTALLATION DETAILS L. ROBERTO LOMAS P.E.
400 S. PALM AVE, INDIALANTIC, FL 32903
11 COMPONENTS AND INSTALLATION DETAILS 434-688-0609  rllomas@Irlomaspe.com

SIGNED: 01/30/2023

Wity
W 7

. ®

\\\\ A1 ”'I//,//

Luis R. Lomas P.E.
SC No.: 24958




3" MAX. —=

44 1/4" COVERING WIDTH
HORIZONTAL

SEE CHART #1

79 3/4"

COVERING

HEIGHT

78"
VERTICAL
ANCHOR
SPACING

-

ANCHOR SPACING
“ - 3" MAX.

FENESTRATION
SYSTEM
AND/OR TRIM
BY OTHERS

MUHLER STORM COVERING
VERTICAL INSTALLATION
REFER TO SHEET 4 FOR MULTIPLE UNIT PROTECTION

DESIGN PRESSURE RATING IMPACT RATING
LARGE AND SMALL
%50.0PSF MISSILE IMPACT
MISSILE LEVEL D, WIND ZONE 3

44 1/4" X 81" FABRIC PANEL SHOWN, UNLIMITED WIDTH IS

APPROVED AS LONG ANCHOR VERTICAL AND HORIZONTAL

SPACING IS IN ACCORDANCE WITH CHART #1

REVISIONS

DATE

APPROVED

R.L.

DESCRIPTION

01/30/2023

REV

REVISED PER NEW CODE

79 3/4” COVERING WIDTH

78" HORIZONTAL ANCHOR SPACING

3"

MAX.

S

VERTICAL
ANCHOR
SPACING

1

44 1/4”
COVERING
HEIGHT

\ FENESTRATION SYSTEM

AND/OR TRIM

3"

MAX.

MUHLER STORM COVERING

HORIZONTAL INSTALLATION

REFER TO SHEET 4 FOR MULTIPLE UNIT PROTECTION

IMPACT RATING

DESIGN PRESSURE RATING

LARGE AND SMALL

+50.0PSF

MISSILE IMPACT

MISSILE LEVEL D, WIND ZONE 3
81" X 44 1/4" FABRIC PANEL SHOWN, UNLIMITED HEIGHT IS

BY OTHERS

APPROVED AS LONG ANCHOR VERTICAL AND HORIZONTAL
SPACING IS IN ACCORDANCE WITH CHART #2

SIGNED: 01/30/2023

THE MUHLER COMPANY Uy
W CARS,
630 SKYLARK DRIVE SUITE U Q /7
CHARLESTON , SC 29407 S\
MUHLER STORM COVERING _§
LARGE AND SMALL MISSILE IMPACT = =
ELEVATIONS 7 N
-, ~n
DRAWN: DWG NO. REV //”/i,%é -\:6\'5Y-:\\\¢ '
A.R. 08-03361 D ey
SCALE NTS DATE 11,/06/18 SHEET2  OF 11
L. ROBERTO LOMAS P.E. Luis R. Lomas P.E.
SC No.: 24958

400 S. PALM AVE, INDIALANTIC, FL 32903

434-688-0609  rllomas@Irlomaspe.com



REVISIONS

REV DESCRIPTION DATE APPROVED

D REVISED PER NEW CODE 01/30/2023| R.L.

Chart #1
Design pressure chart (psf)
Horizontal Vertical anchor spacing (in)
anchor

space (in)] 240 | 30.0 | 36.0 | 42.0 | 48.0 | 54.0 | 60.0 | 66.0 | 72.0 | 78.0 | 84.0 | 90.0 | 96.0 | 102.0 | 108.0 | 114.0 | 120.0 | 126.0 | 132.0 | 138.0 | 144.0 | 150.0 | 156.0 | 162.0 | 168.0 | 174.0 | 180.0 | 186.0 | 192.0
3.0 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0
4.0 50.0 | 50.0 | 50.0 | 50.0 | 50.0 [ 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0
8.0 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 [ 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 488 | 464 | 443 | 424 | 406 | 39.0 | 375 | 36.1 348 | 336 | 325 | 31.56 | 30.5
12.0 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 [ 50.0 | 50.0 | 50.0 | 50.0 | 464 | 43.3 | 406 | 38.2 | 36.1 342 | 325 | 31.0 | 295 | 283 | 271 26.0 | 25.0 | 241 232 | 224 | 217 | 21.0 | 20.3
16.0 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 488 | 443 | 406 | 375 | 348 | 325 | 30.5 | 28.7 | 271 257 | 244 | 232 | 222 | 212 | 203 | 195 | 188 | 18.1 17.4 16.8 16.3 15.7 15.2
20.0 50.0 | 50.0 | 50.0 | 50.0 | 488 | 433 | 39.0 | 3565 | 325 | 30.0 | 279 | 260 | 244 | 229 | 217 | 205 | 195 | 186 | 17.7 | 17.0 | 163 [ 156 | 15.0 - - - - - -
24.0 50.0 | 50.0 | 50.0 | 46.4 | 406 | 36.1 325 | 295 | 271 250 | 232 | 21.7 | 20.3 19.1 18.1 171 16.3 | 156.5 - - - - - - - - - - -

Design pressures are positive and negative

Chart #2
Design pressure chart (psf)
\;ﬁ:::?rl Horizontal anchor spacing (in)
space (in)| 24.0 | 30.0 | 36.0 | 420 | 480 | 54.0 | 60.0 | 66.0 | 720 | 780 | 84.0 | 90.0 | 96.0 | 102.0 | 108.0 | 114.0 | 120.0 | 126.0 | 132.0 | 138.0 | 144.0 | 150.0 | 156.0 | 162.0 | 168.0 | 174.0 | 180.0 | 186.0 | 192.0
3.0 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 [ 50.0 | 50.0 | 50.0 | 50.0 | 50.0 [ 50.0 | 50.0 [ 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 [ 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0
4.0 50.0 | 50.0 | 50.0 | 50.0 | 50.0 [ 50.0 [ 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 [ 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 [ 50.0 | 50.0 | 50.0 | 50.0 | 50.0 [ 50.0
8.0 50.0 | 50.0 | 50.0 | 50.0 | 50.0 [ 50.0 [ 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 488 | 464 | 443 | 424 | 406 | 39.0 | 375 [ 361 | 348 | 336 | 325 | 31.5 | 305

12.0 50.0 | 50.0 | 50.0 | 50.0 | 50.0 [ 50.0 | 50.0 | 50.0 | 50.0 | 50.0 | 464 | 43.3 | 40.6 | 38.2 | 36.1 342 | 325 | 31.0 | 295 | 283 | 271 | 26.0 | 250 | 241 | 232 | 224 | 217 | 21.0 | 20.3
16.0 50.0 | 50.0 | 50.0 | 50.0 | 50.0 [ 50.0 | 488 | 443 | 406 | 375 | 348 | 325 | 305 | 287 | 271 | 267 | 244 | 232 | 222 | 212 | 203 | 195 | 188 | 18.1 174 | 168 | 163 | 157 | 152

20.0 50.0 | 50.0 | 50.0 | 50.0 | 488 | 433 | 39.0 | 355 | 325 | 30.0 | 279 | 260 | 244 | 229 | 217 | 205 | 195 | 186 | 17.7 | 17.0 | 163 [ 156 | 15.0 - - - - - -
24.0 50.0 | 50.0 | 50.0 | 464 | 406 | 36.1 325 | 295 | 271 250 | 232 | 21.7 | 20.3 19.1 18.1 171 16.3 | 165 - - - - - - - - - - -
Design pressures are positive and negative

SIGNED: 01/30/2023

THE MUHLER COMPANY

630 SKYLARK DRIVE SUITE U
CHARLESTON , SC 29407

MUHLER STORM COVERING
LARGE AND SMALL MISSILE IMPACT

CHARTS
DRAWN: DWG NO. REV
A.R. 08-03361 D
SCALE NTS DATE 1 1/06/1 8 SHEETs OF 11
L. ROBERTO LOMAS P.E. .
400 S. PALM AVE, INDIALANTIC, FL 32903 LUISSC RN oLorgig SEE‘

434-688-0609  rllomas@Irlomaspe.com




REVISIONS

FABRIC TO BE INSTALLED FENESTRATION SYSTEM
AS INDICATED IN AND/OR TRIM REV DESCRIPTION DATE APPROVED

SHEETS 2 AND 3 BY OTHERS D | REVISED PER NEW CODE 01/30/2023| R.L.

AND INSTALLATION DETAILS
e e e

MUHLER STORM COVERING
4 UNITS SHOWN, UNLIMITED NUMBER OF UNITS ARE QUALIFIED
AS LONG AS EACH INDIVIDUAL UNIT IS PROTECTED AS SHOWN
AND FABRIC IS INSTALLED AS SHOWN IN SHEETS 2 AND 3 AND INSTALLATION DETAILS
VERTICAL INSTALLATION SHOWN, HORIZONTAL SIMILAR

FABRIC TO BE INSTALLED FENESTRATION SYSTEM
AS INDICATED IN AND/OR TRIM
SHEETS 2 AND 3 BY OTHERS

AND INSTALLATION DETAILS

SIGNED: 01/30/2023

THE MUHLER COMPANY

630 SKYLARK DRIVE SUITE U
CHARLESTON , SC 29407

MUHLER STORM COVERING
LARGE AND SMALL MISSILE IMPACT
MULTIPLE INSTALLATION ELEVATION

e

MUHLER STORM COVERING N M 03361 o
4 UNITS SHOWN, UNLIMITED NUMBER OF UNITS ARE QUALIFIED i
AS LONG AS ENTIRE UNIT IS PROTECTED AS SHOWN SCALE NTS DATE 11,/06/18 SHEET4  OF 11
AND FABRIC IS INSTALLED AS SHOWN IN SHEETS 2 AND 3 AND INSTALLATION DETAILS . FOBERTO LOMAS PE .
VERTICAL INSTALLATION SHOWN, HORIZONTAL SIMILAR 400 S. PALM AVE, INDIALANTIC, FL 32903 Luis R. Lomas P.E.

434-688-0609 rllomas@Irlomaspe.com SC No.: 24958




INSTALL STORM TRIM PER

MANUFACTURER’S AND
APPROVAL INSTALLATION
INSTRUCTIONS

SEE NOTES
THIS SHEET

STORM CONNECT
2 PIECE OR
1 PIECE

STORM FABRIC

INSTALL STORM TRIM PER

MANUFACTURER'S AND

APPROVAL INSTALLATION

INSTRUCTIONS

SEE NOTES
THIS SHEET

FABRIC CLIP

STORM FABRIC

/

AN

ARERARIEE

1NN

INSTALL STORM TRIM PER
MANUFACTURER’S AND

REVISIONS

REV DESCRIPTION

DATE

APPROVED

D REVISED PER NEW CODE

01/30/2023

R.L.

1/47 WITH 17 WASHER

SIGNED: 01/30/2023

SEE NOTES
APPROVAL INSTALLATION
THIS SHEET INSTRUCTIONS
I-.
NOTES:
ANCHORS QUALIFIED TO BE USED:
3 1. M6-265 X 1 7/16"
FoLD ARV IR SCREW WITH FLAT WASHER
2. HILMAN MULTIMATERIAL SCREW
L\_’_[ HEX/TORX HEAD 1/4” X 1
3. #10 X 1 1/2" PTH VINYL HOLD SCREW
] WITH 1”7 WASHER.
800 DAP
FENESTRATION BETWEEN FENESTRATION
SYSTEM FOLDS SYSTEM
BY OTHERS BY OTHERS
STORM FABRIC
FABRIC INSTALLATION FABRIC INSTALLATION
WITH STORM CONNECT SYSTEM WITH FABRIC FOLDING
.020” WEBBING
FABRIC
REINFORCEMENT INSTALL STORM TRIM PER
MANUFACTURER'S AND
TSHEIE g‘gg? APPROVAL INSTALLATION
INSTRUCTIONS
i
o FABRIC IV TRERN (AR
s FOLD =
= AL
IRy N THE MUHLER COMPANY
[ D 630 SKYLARK DRIVE SUITE U
[ D ” POLYPRO?S;’E'}S CHARLESTON , SC 29407
FENESTRATION EEQEE’“TARAT'ON MUHLER STORM COVERING
SYSTEM By OTHERS LARGE AND SMALL MISSILE IMPACT
BY OTHERS INSTALLATION DETAILS
STORM FABRIC FABRIC INSTALLATION N M 03361 S
WITH FABRIC FOLDING REINFORCEMENT o —
FABRIC INSTALLATION SCALE NTS DATE 11/06/18 SHEET5  OF 11
WITH FABRIC CLIP

L. ROBERTO LOMAS P.E.
400 S. PALM AVE, INDIALANTIC, FL 32903
434-688-0609  rllomas@Irlomaspe.com

Luis R. Lomas P.E.

SC No.:

24958




EXTERIOR FINISH
BY OTHERS

#10 WOOD
SCREW

WITH WASHER
SEE NOTES
THIS SHEET

STORM CONNECT
2 PIECE OR
1 PIECE

STORM
FABRIC

1 1/2” MIN.
EMBEDMENT

MIN.
EDGE DISTANCE

FABRIC INSTALLATION

f

FENESTRATION
SYSTEM
BY OTHERS

WITH STORM CONNECT SYSTEM W/WOOD SCREW

EXTERIOR FINISH

BY OTHERS
1 1/2” MIN,
410 WOOD EMBEDENT
SCREW
WITH WASHER SN 7
SEE NOTES Hb d 2 7
THIS SHEET Honopde 2 L 00
, nfiulls .//  IR
3 :DDD./,/'.//~./.
FABRIC YIHP I o on 0 #
FOLD dhdbly ~./;,fii;ff/' 17 MIN.
77/7,,, /A EDGE DISTANCE
g | |
=i
800 DAP
BETWEEN FENESTRATION
FOLDS SYSTEM
BY OTHERS
STORM
FABRIC
FABRIC INSTALLATION

WITH FABRIC FOLDING W/WOOD SCREW

.020” WEBBING EXTERIOR FINISH
FABRIC BY OTHERS
REINFORCEMENT | 1/27 MIN.
#10 WOOD EMBEDENT
SCREW
WITH WASHER L
SEE NOTES sl=f= T
THIS SHEET HoHo %,
alinln Y77 . g
” | O . y - s
2 sj=]= X AP f
FABRIC S 7
FOLD = AN 17 MIN.
}Jj - D.(;f/(/~/;/f{/.. EDGE DISTANCE
/ ' |
POLYPROPOLENE - H
THREAD
FENESTRATION
SYSTEM
STORM
FABRIC BY OTHERS
FABRIC INSTALLATION

WITH FABRIC FOLDING REINFORCEMENT W/WOOD SCREW

REVISIONS

REV DESCRIPTION

DATE APPROVED

D REVISED PER NEW CODE

01/30/2023| R.L.

NOTES:
ANCHORS QUALIFIED TO BE US

1. #10 WOOD SCREW WITH
LENGTH TO ACHIEVE A 1
INTO SUBSTRATE.

ED:
WASHER WITH SUFFICIENT

1/2” MINIMUM EMBEDMENT

SIGNED: 01/30/2023

THE MUHLER COMPANY iy,
630 SKYLARK DRIVE SUITE U Ok CARGY,
CHARLESTON , SC 29407 \\\\0.’ S/ ./'If’/,’
MUHLER STORM COVERING = A
LARGE AND SMALL MISSILE IMPACT = @r =
INSTALLATION DETAILS B vy %q*‘-. N
L . . ~
DRAWN: DWG NO. REV //’/,(//o/éé -\'_6\'“1\\\\“\
AR. 08-03361 D ZImtaN
SCAE NTS  |E 11/06/18 |56 OF 11
L. ROBERTO LOMAS P.E. .
400 S. PALM AVE, INDIALANTIC, FL 32903 LU'SSC RN L?n;ig 5';’ E.
434-688-0609  rllomas@Irlomaspe.com 0.:




.020” WEBBING EXTERIOR FINISH ) BY OTHERS
FABRIC BY OTHERS 1/4” PANEL MATE
REINFORCEMENT ” SEE NOTES
1.1/27 MIN, THIS SHEET
1/4” PANEL MATE EMBEDMENT
SEE NOTES _j\\ . p
THlS SHEET _—:IUE—:IUE—:I ) / : . . /
:D:D:D'.//'/,// .//'./ N
f noOgpgp ~/./'./',/ 3
HoHoHa o000
o [HoRok ~.//..//../;//;,. | FABRIC e
FariIc  ETITIIIEA NN N s FolonG WY
FOLDING - ARSI 1" MIN.
| Hofo D/C/./;f/{/f;”f/ EDGE DISTANCE
1 : ~ . 7
o —— |
POLYPROPOLENE H 800 DAP
THREAD FENESTRATION BEE@EEQ
_J///’ SYSTEM _J///’
STORM BY OTHERS STORM
FABRIC FABRIC INSTALLATION FABRIC
WITH FABRIC FOLDING REINFORCEMENT W/PANEL MATE
NOTES:

ANCHORS QUALIFIED TO B

E USED:

1. 1/4” PANEL MATE WITH SUFFICIENT LENGTH TO
1/2”

ACHIEVE A 1
SUBSTRATE.

.020" WEBBING
FABRIC
REINFORCEMENT

1/4" PANEL MATE
SEE NOTES
THIS SHEET

217
FABRIC
FOLDING

THREAD

STORM
FABRIC

MINIMUM EMBEDMENT INTO

INSTRUCTIONS

INSTALL STORM TRIM PER

MANUFACTURER’S AND
APPROVAL INSTALLATION

EXTERIOR FINISH

1.1/2” MIN.
EMBEDMENT

1/4” PANEL MATE
SEE NOTES
THIS SHEET

FENESTRATION

SYSTEM
BY OTHERS

FABRIC INSTALLATION

WITH FABRIC FOLDING REINFORCEMENT W/PANEL MATE

317
FABRIC
FOLDING

800 DAP
BETWEEN
FOLDS

STORM —//////

FABRIC

O[O

;v g / ‘ ”
0 1
'.//%EDGE DISTANCE

MIN.

1

SYSTEM

f

STOR

FENESTRATION

BY OTHERS

FABRIC INSTALLATION

WITH FABRIC FOLDING W/PANEL MATE

INSTALL

REVISIONS

APPROVED

REV DESCRIPTION DATE
D REVISED PER NEW CODE O1/30/2023 R.L.
EXTERIOR FINISH 1E&ééogn$'
BY OTHERS
" uE:] AT
1/4” PANEL MATE ﬁ: ﬁ;j A
SEE NOTES oHoH A
THIS SHEET o b N |
" I, 17 MIN.
oHo ~5//i;%ngDGE DISTANCE
= g I
T O ?
M CONNECT
2 PIECE OR LLJ_J
1 PIECE
FENESTRATION
STORM SYSTEM
FABRIC BY OTHERS

STORM TRIM PER

MANUFACTURER’S AND
APPROVAL INSTALLATION

INSTALL STORM TRIM PER
MANUFACTURER’S AND
APPROVAL INSTALLATION
INSTRUCTIONS

iy

FENESTRATION
SYSTEM
BY OTHERS

FABRIC INSTALLATION

WITH FABRIC FOLDING W/PANEL MATE

INSTRUCTIONS

1/4” PANEL MATE
SEE NOTES
THIS SHEET

STORM CONNECT
2 PIECE OR

FABRIC INSTALLATION

WITH STORM CONNECT SYSTEM W/PANEL MATE

FENESTRATION
1 PIECE SYSTEM
STORM BY OTHERS
FABRIC FABRIC INSTALLATION

WITH STORM CONNECT SYSTEM W/PANEL MATE

THE MUHLER COMPANY

630 SKYLARK DRIVE SUITE U

CHARLESTON , SC 29407

MUHLER STORM COVERING

LARGE AND SMALL MISSILE IMPACT

INSTALLATION DETAILS

DRAWN:
A.R.

DWG NO.
08—-03361

REV

SCALE NTS

SHEET 7

DATE 11 /06,18

OF 11

L. ROBERTO LOMAS P.E.
400 S. PALM AVE, INDIALANTIC, FL 32903
434-688-0609  rllomas@Irlomaspe.com

SIGNED: 01/30/2023

7,y .
/////o/s
Ty

R.

L 0\1“ \\

Luis R. Lomas P.E.

SC No.

1 24958




EXTERIOR FINISH

SEWN SEAM
1/8" FROM EDGE

EXTERIOR FINISH
BY OTHERS

1.1/2” MIN.
EMBEDMENT

REVISIONS

REV DESCRIPTION

DATE APPROVED

D REVISED PER NEW CODE

01/30/2023| R.L.

#10 WOOD SCREW

WITH WASHER
SEE NOTES
THIS SHEET
27 ‘
FABRIC {m
FOLDING 1”7 MIN.
EDGE DISTANCE NOTES:
1 ANCHORS QUALIFIED TO BE USED:

SEWN SEAM
1/8” FROM EDGE

STORM
FABRIC

SEWN SEAM
1/8” FROM EDGE

BY OTHERS
o b
1/8" FROM EDGE
S TH N oz
opgp . - i
oHoQ D%//////.//' ’
qpaplr ~ o /',//
57 D:D:D.A//,/'.//~./.
SRR/ |
FABRIC SANNAN \ 77
FOLDING W S A A 17 MIN.
u . v .
SHORAT //(///f EDGE DISTANCE
L | |
SEWN SEAM LIJ——x_H
1/8” FROM EDGE 1/4” PANEL MATE
[} SEE NOTES
THIS SHEET
FENESTRATION
SYSTEM
STORM BY OTHERS
FABRIC FABRIC INSTALLATION
W/PANEL MATE
INSTALL STORM TRIM PER
MANUFACTURER’S AND
APPROVAL INSTALLATION
SEWN SEAM INSTRUCTIONS

1/8" FROM EDGE

1/4” PANEL MATE
SEE NOTES
THIS SHEET

217
FABRIC
FOLDING

SEWN SEAM
1/8” FROM EDGE

FENESTRATION
SYSTEM
STORM BY OTHERS
FABRIC FABRIC INSTALLATION
W/PANEL MATE

SEE NOTES
THIS SHEET

FENESTRATION 2.

1. M6-265 X 1 7/16”"
TORX T-25 PH

SCREW WITH FLAT WASHER
HILMAN MULTIMATERIAL SCREW

1/4" WITH 17 WASHER

1/2" PTH VINYL HOLD SCREW

SYSTEM HEX/TORX HEAD 1/4" X 1
BY OTHERS 3 #10 K 1
WITH 17 WASHER
FABRIC INSTALLATION 4. 1/4” PANEL MATE WITH SUFFICIENT LENGTH TO

W/PANEL MATE

INSTALL STORM TRIM PER
MANUFACTURER’S AND
APPROVAL INSTALLATION
INSTRUCTIONS

| : -

27 ==
FABRIC RRL AR
FOLDING T T

1/8” FROM EDGE

ﬁ
SEWN SEAM ::

STORM FABRIC

o

ACHIEVE A 1
SUBSTRATE.

1/2” MINIMUM EMBEDMENT INTO

5. #10 WOOD SCREW WITH WASHER WITH SUFFICIENT

LENGTH TO ACHIEVE A 1
INTO SUBSTRATE.

THE MUHLER COMPANY

630 SKYLARK DRIVE SUITE U
CHARLESTON , SC 29407

FENESTRATION
SYSTEM

MUHLER STORM COVERING
LARGE AND SMALL MISSILE IMPACT
INSTALLATION DETAILS

BY OTHERS

DRAWN:

FABRIC INSTALLATION A.R.

DWG NO. REV
08—-03361 D

SCALE NTS

SHEETE  OF 11

DATE 11 /06,18

L. ROBERTO LOMAS P.E.
400 S. PALM AVE, INDIALANTIC, FL 32903

434-688-0609  rllomas@Irlomaspe.com

1/2” MINIMUM EMBEDMENT

SIGNED: 01/30/2023

Wiy
\\\\\ CA ///

¥ A 77,

O
N\

o) .Yv?s, 2
: %;‘m‘. : =
2 4958 5 =

(‘,° .
7, /s' <\y
/, R 0\ N
/’/Imin\'\\\\\\\

Luis R. Lomas P.E.
SC No.: 24958




1

o
FABRIC
FOLDING

i

STORM
FABRIC

1/4” PANEL MATE
SEE NOTES
THIS SHEET

o
FABRIC
FOLDING

i

STORM
FABRIC

EXTERIOR FINISH
BY OTHERS

_1.1/2” MIN.
EMBEDMENT

7

077

G 4 ;/<<)~ 17 MIN.
7/, /A\EDGE DISTANCE

f
H_/*\_IJ H 1/4” PANEL MATE

[} SEE NOTES
THIS SHEET

||u|
050
I -
Du

h‘::nDrlE
|
O
o4
N

I
>,_|I
N

BN

ofogdyy,
Susn S|y

\ R4

FENESTRATION
SYSTEM

FABRIC INSTALLATIONEY OTHERS

W/PANEL MATE

INSTALL STORM TRIM PER
MANUFACTURER’S AND
APPROVAL INSTALLATION
INSTRUCTIONS

il

i

FENESTRATION

SYSTEM

BY OTHERS

FABRIC INSTALLATION
W/PANEL MATE

SEE NOTES
THIS SHEET

STORM FABRIC

277
FABRIC
FOLDING

STORM
FABRIC

2)7
FABRIC

FOLDING

EXTERIOR FINISH
BY OTHERS

1 1/2” MIN.
EMBEDMENT

MIN.

FABRIC INSTALLATION

W/PANEL MATE

INSTALL STORM TRIM PER
MANUFACTURER’'S AND
APPROVAL INSTALLATION
INSTRUCTIONS

FENESTRATION
SYSTEM
BY OTHERS

FABRIC INSTALLATION

f

#10 WOOD SCREW
WITH WASHER
SEE NOTES

THIS SHEET
FENESTRATION
SYSTEM
BY OTHERS

REVISIONS

REV

DESCRIPTION DATE APPROVED

D REVISED PER NEW CODE

01/30/2023| R.L.

NOTES:
ANCHORS QUALIFIED TO BE USED:

1.

M6—265 X 1 7/16"

TORX T—-25 PH
SCREW WITH FLAT WASHER

2. HILMAN MULTIMATERIAL SCREW
HEX/TORX HEAD 1/4" X 1 1/4" WITH 1”7 WASHER
3. #10 X 1 1/2" PTH VINYL HOLD SCREW
WITH 17 WASHER
4. 1/4" PANEL MATE WITH SUFFICIENT LENGTH TO
ACHIEVE A 1 1/2" MINIMUM EMBEDMENT INTO
SUBSTRATE.
5. #10 WOOD SCREW WITH WASHER WITH SUFFICIENT

LENGTH TO ACHIEVE A 1 1/2" MINIMUM EMBEDMENT

INTO SUBSTRATE.

SIGNED: 01/30/2023

THE MUHLER COMPANY

W gy
\a CARY

\\

630 SKYLARK DRIVE SUITE U \\\\:3‘\“’,.,'? (////,/.
CHARLESTON , SC 29407 \\\\0 o S/, ."ta’/,’
MUHLER STORM COVERING _-§ 4958 e, ::'

LARGE AND SMALL MISSILE IMPACT =/ Qr =
INSTALLATION DETAILS Z oy e N

[ -7 ¥% S

20 s S

DWG NO. REV N

DRAWN:

A.R. 08—-03361

SHEETQ  OF 11

SCALE NTS

DATE 11 /06,18

L. ROBERTO LOMAS P.E.
400 S. PALM AVE, INDIALANTIC, FL 32903
434-688-0609  rllomas@Irlomaspe.com

DRI
// SR. LO\h \\
it

Luis R. Lomas P.E.
SC No.: 24958




EXTERIOR FINISH

EXTERIOR FINISH

REVISIONS

REV

DESCRIPTION DATE APPROVED

D REVISED PER NEW CODE

01/30/2023| R.L.

BY OTHERS BY OTHERS
L _1.1/2" MIN. 1.1/2” MIN.
_ EMBEDMENT _ EMBEDMENT
[ iy o g / \ / . > R
, ngpgply s - 7 . , : . .
2 D:D:D%////.//. 2 N . .
ndpdply > ././/',// v IS
D:D:D~A//,//'.//~./~ . A Y
1l R s ! i (A A !
t;\jr:\‘j : .' ) / EE) ““ V' N B .. "
DHoHdy ./',//g//. 1” MIN. 2 17 MIN.
L5 7/ /\EDGE DISTANCE s g 77507 )\ EDGE DISTANCE
| I (e L JC T
Ulﬁj . L‘_’_[L_,J*] #10 WOOD SCREW
” 1/4" PANEL MATE WITH WASHER
SEE NOTES |:| H SEE NOTES
THIS SHEET NOTES:
THIS SHEET ANCHORS QUALIFIED TO BE USED:
FENESTRATION FENESTRATION 1. M6-265 X 1 7/16”
SYSTEM SYSTEM TORX T—25 PH
STORM BY OTHERS STORM BY OTHERS SCREW WITH FLAT WASHER
FABRIC FABRIC 2. HILMAN MULTIMATERIAL SCREW
HEX/TORX HEAD 1/4” X 1 1/4” WITH 1" WASHER
FABRIC INSTALLATION FABRIC INSTALLATION 5 410 % 1 1/ PTHVINYL HOLD. SCREW
W/PANEL MATE W/PANEL MATE '
WITH 1” WASHER
4. 1/4” PANEL MATE WITH SUFFICIENT LENGTH TO
ACHIEVE A 1 1/2” MINIMUM EMBEDMENT INTO
SUBSTRATE.
5. #10 WOOD SCREW WITH WASHER WITH SUFFICIENT
L;‘EJSILELAC?L%?FA{,STRMDPER LENGTH TO ACHIEVE A 1 1/2” MINIMUM EMBEDMENT
APPROVAL INSTALLATION INSTALL STORM TRIM PER INTO SUBSTRATE
INSTRUCTIONS MANUFACTURER’S AND
APPROVAL INSTALLATION
_ INSTRUCTIONS
2”
2”
1 /4" PANEL MATE — SIGNED: 01/30/2023
SEE NOTES
THIS SHEET THE MUHLER COMPANY i,
SEE NOTES 630 SKYLARK DRIVE SUITE U \\\\gﬂ\. ,C.A,‘? ///,,.
THIS SHEET CHARLESTON , SC 29407 OS2
FENESTRATION MUHLER STORM COVERING = 2958 o =
SYSTEM FENESTRATION LARGE AND SMALL MISSILE IMPACT =4 & =
STORM BY OTHERS SYSTEM INSTALLATION DETAILS 779, S
FABRIC FABRIC INSTALLATION BY OTHERS 2. e S
STORM FABRIC FABRIC INSTALLATION DRAWN: DWG NO. REV ’//,/s é'\'_o\h"‘\\\\\
W/PANEL MATE A.R. 08-03361 D e
SCALE NTS DATE 11/06/18 SHEET10 OF 11
L. ROBERTO LOMAS P.E. .
400 S. PALM AVE, INDIALANTIC, FL 32903 LUISSC RN Lorgig 5';’ E.
434-688-0609  rllomas@Irlomaspe.com 0.:




EXTERIOR FINISH o P 1/27 MING
BY OTHERS _\ EMBEDENT
_ju T :||_ . .. R
doQgoQgar. / 7 f
1/4” FEMALE i \ 77
PANEL MATE NN A, |
W/1/4” BOLT ) i SRR
afafafaks IS/ 17 MIN.
& WASHER i 00
SEE NOTES ODHOHAY o 0 EDGE
THIS SHEET : (PP AI IS DISTANCE
I | f
STORM D [
CONNECT /
STORM FENESTRATION
FABRIC SYSTEM
BY OTHERS

FABRIC INSTALLATION

WITH STORM CONNECT SYSTEM W/PANEL MATE

EXTERIOR FINISH

BY OTHERS
PANEL MATE 1 EemBEDMENT |
W/1/4” BOLT
& WASHER ‘ N D ,
SEE NOTES Hpabdplo 7 00 ~7
THIS SHEET | HoRoR 70
S _D:D:D.//'.//~.//.//'
FABRIC iR BEHRRIT 0 mwey |
FOLDING L AR IS W TN
oHoRgY, .//'.//.// EDGE
==\ DISTANCE
i — |
800 DAP J
BETWEEN Y D
FOLDS
FENESTRATION
SYSTEM
STORM BY, OTHERS
FABRIC
FABRIC INSTALLATION
WITH FABRIC FOLDING W/PANEL MATE
NOTES:

ANCHORS QUALIFIED TO BE USED:
1. 1/47 FEMALE PANEL MATE WITH 1/4” BOLT AND

WASHER

REVISIONS

REV DESCRIPTION DATE APPROVED
D | REVISED PER NEW CODE 01/30/2023| R.L.
o
31/2"
/ O
O O
FABRIC CLIP

PLASTIC, BY TOWN & COUNTRY

—‘15/8"
T

7/167

1/4" I }

STORM CONNECT 2 PIECE
VINYL, BY MUHLER

—r1 11/16”
e =
f

STORM CONNECT 1 PIECE
VINYL, BY MUHLER

THE MUHLER COMPANY

630 SKYLARK DRIVE SUITE U
CHARLESTON , SC 29407

MUHLER STORM COVERING
LARGE AND SMALL MISSILE IMPACT
COMPONENTS AND INSTALLATION DETAILS

DRAWN: DWG NO. REV
A.R. 08—-03361 D

SCALE NTS DATE 11,/06/18 SHEET 11 OF 11

L. ROBERTO LOMAS P.E.
400 S. PALM AVE, INDIALANTIC, FL 32903
434-688-0609  rllomas@Irlomaspe.com

SIGNED: 01/30/2023

\\\\\\\I gy,

v CARG 7,

) .‘Zys% 4%
24 :

N

K>
~
S~
S~
-
-
=
<
-

XN .
///o/s. S . 5“
/) o LoY

///’/IR;IHL\\\\

Luis R. Lomas P.E.
SC No.: 24958




